

$$\textcircled{1} \lim_{n \rightarrow \infty} \int_0^1 \frac{n e^{-n\sqrt{x}}}{1+x^2} dx = 0$$

1. fix x: $\lim_{n \rightarrow \infty} \frac{n e^{-n\sqrt{x}}}{1+x^2} = 0$ sta'la fu spoj \rightarrow ne'fite'ni ne (0,1)

3. $g(u, x) = \frac{n e^{-n\sqrt{x}}}{1+x^2}$
 $\frac{\partial g}{\partial u} = \frac{e^{-n\sqrt{x}} + n e^{-n\sqrt{x}} (-\sqrt{x})}{1+x^2} \rightarrow e^{-n\sqrt{x}} (1 - n\sqrt{x}) = 0$
 $n_0 = \frac{1}{\sqrt{x}}$

$$g(n_0, x) = \frac{\frac{1}{\sqrt{x}} e^{-\frac{1}{\sqrt{x}} \sqrt{x}}}{1+x^2} = \frac{1/e}{\sqrt{x}(1+x^2)}$$

$g(n_0, x)$ u 1 spoj
 $u \approx \frac{1}{\sqrt{x}}$

1. $f_n \leq g(n_0, x) = \frac{1}{e\sqrt{x}(1+x^2)} \leftarrow$ majoranta

1. Tody $\lim \int = \int \lim = \int_0^1 0 = 0.$

$$\textcircled{2} \int_0^1 \cos x \ln x dx$$

1. $\cos x = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n}}{(2n)!}$ pro $x \in \mathbb{R}$ f_n spoj \rightarrow me'f ne (0,1)

3. $\sum_{n=0}^{\infty} \int_0^1 \left| (-1)^n \frac{x^{2n}}{(2n)!} \ln x \right| dx = \sum_{n=0}^{\infty} \frac{1}{(2n)!} \int_0^1 x^{2n} \ln x dx = \sum_{n=0}^{\infty} \frac{1}{(2n)!(2n+1)^2} < \sum_{n=2}^{\infty} \frac{1}{n^2}$

$$\int_0^1 x^{2n} \ln x dx = \left[\frac{x^{2n+1}}{2n+1} \ln x \right]_0^1 - \int_0^1 \frac{x^{2n}}{2n+1} dx = - \left[\frac{x^{2n+1}}{(2n+1)^2} \right]_0^1 = - \frac{1}{(2n+1)^2}$$

$u = \frac{x^{2n+1}}{2n+1}$ $v = \frac{1}{x}$

Lebesgue \rightarrow

1. $\int_0^1 \cos x \ln x dx = \sum_{n=0}^{\infty} \int_0^1 \frac{(-1)^n x^{2n}}{(2n)!} \ln x dx = \sum_{n=0}^{\infty} \frac{(-1)^{n+1}}{(2n)!(2n+1)^2}$